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INDIAN ECONOMY, GLOBALIZATION AND
SUSTAINABLE DEVELOPMENT

SUBJECT CODE /fTwa =T : 13
Full Marks : 200

Time : 3 Hours
quiies : 200 |qEY : 390
Instructions : The question paper consists of five Sections. Each Section carries 40 marks.

Section — I is compulsory and contains twenty objective questions.
two marks (2x20=40). Sections —

Each carries ‘
I to V contain two optional long descriptive
questions each. The candidate is required to answer one question from each Section.
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SECTION -1 (2x20=40)
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1. Which one of the following activities of the Reserve Bank of India ig considered to be a part
of ‘sterilization’?

(A) Open market operations
(B) Ovemight settlement of payment systems

(C) Debt and cash management for the Central ang State Governments

(D) Regulating the functions of Non-Banking Financial Institutions
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With reference to land reforms in Independent India, which one of the following statements

2
H

is correct?
(A) The ceiling laws were aimed at family holdings and not individual holdings

(B) The major aim of land reforms was providing agricultural land to all the landless
(C) It resulted in cultivation of cash crops as a predominant form of cultivation

(D) Land reforms permitted no exemptions to ceiling limits
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3. According to the NITT Aayog’s first Multidimensional Poverty Index (MPI) report, which

State has the highest rate of poverty among its population?

(A) Chattisgarh (B) Madhya Pradesh

(C) Bihar (D) Jharkhand
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4. Which¢ s nisation 1s accountable for calculating Gross Domestic Product of India?
(A) Indian Statistical Institute (B) Reserve Bank of India
C) Central Statistics i
{ tatistical Office (D)  Ministry of Commerce and Industry
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Consider the following statements -

tn
.

(D Inthe case of all cereals, pulses and oil-seeds, the procurement at Minimum Support
Price (MSP) is unlimited in any State/UT of India.

(I)  In the case of cereals and pulses, the MSP is fixed in any State/UT at a level to which
the market price will never fall.

Which of the statements given above is/are correct?

(A) (D) only (B) (D) only

(C) Both (I) and (1) (D) Neither (I) nor (IT)
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6. When the Reserve Bank of India reduces the Statutory Liquidity Ratio (SLR) by 50 basis
points, which of the following is likely to happen?

(A) India’s GDP growth rate increases drastically
(B) Foreign Institutional Investors may bring more capital into our country
(C) Scheduled commercial banks may cut their lending rates

(D) It may drastically reduce the liquidity of the banking system

P.T.O.
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Tejaswini scheme is being operated in Jharkhand in collaboration with which international
organisation?

(A) International Monetary Fund

(B) World Bank
(©) Asian Development Bank

(D) New Development Bank

mﬁﬁﬁ%,ﬁaﬁ@aﬁw%@v%ﬁﬁaﬁm@%?
(W) ST T3 H

®B) fam =
©) R e & D) ¥ Fawie I
How many times has the President’s Rule been impdsed in Jharkhand?
(A) Twice (B) Thrice
(C) Four times (D) Five times
@S # Tl a) gy s s ??
A) T =R ®) o Ix
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(D) 99 9R
Regarding the Skill India Mission, consi
(I)  Main focus of Skill India Mission

(I)  National Skil| Develop
of the world.

der the following statements :
is skilling, re-skilling and up-skilling.

ment Corporation International aims to make India a skill capital

(A) (l)and(ll)only B
(C) (I11) only ! iy

(M) (D), (1) and (111
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What is the main reason behind the increased revenue buoyancy in India?

(A) The decision to share data between the Central Board of Direct Taxes (CBDT) and the
Central Board of Indirect Taxes and Customs (CBIS) on an automatic and regular basis

(B)  The reduction in tax evasion through multiple consistency checks in the digital system
(C) The increase in direct tax collections due to better income reporting

(D) The introduction of faceless assessment and appeal systems

ARG & U9 I8t | Ifg & S qer e w2y
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Consider the following statements about the performance of Foreign Portfolio Investors during

2022-23 :

(I)  The custodial holdings of FPIs, reflecting the total market value of the holdings, witnessed
an increase despite the outflows driven by global factors.

(I)  Indian equity markets have been relatively less susceptible to large-scale corrections due
to investments by Domestic Institutional Investors (DIIs).

Which of the statements given above is/are correct?

(A) (I)only (B) (1) only

(C) Both (1) and (IT) (D) Neither (T) nor (IT)

P.T.O.
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12. Consider the following statements :
(@ The weightage of food in Consumer Price Index (CPI) is higher than that in Wholesale
Price Index (WPI).
(M) The WPI does not capture changes in the prices of services, which CPI does.
(I RBI has now adopted WPI as its key measure of inflation.

Which of the statements given above is/are correct?

(A) (@) only B) ) and (II) only

(C) () only ®) ), (I) and (III)
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(A) wad () B) FHad (I) 3R (1)
(C) Fad (IM) D) (1), (N 3R (1)
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13. The Chota Nagpur Plateau, a prominent physiographic region in Jharkhand, is known for its

(A) dense forests (B) rich mineral deposits
(C) extensive river systems (D)  high mountain peaks
BTN FT TSR, HRGVS 1 T 7@ Wiehfereh Siifer 8, fras fg s sian 22
(A) HET 91 B) HHg Giw WsK
(C) =S 75T Wurferat @) = vda =ifeat

14. Which one of the following has been constituted under the Environment (Protection) Act,
19867 :
(A) Central Water Commission (B) Central Ground Water Board
(C) Central Ground Water Authority (D) National Water Development Agency
frefafaa & & fraer om, wafaror (wxew) sifafias, 1986 & aea feran @ 22
(A) F=E S SEN (B) wwHE oI A
(C) i oIl WTRreRzor O) TgE v fywm i

15, Consider the following :
(I  Lifestyle Material Footprint
(II) Food Wastage
(IIT) Public Waste
(IV) Sustainable Tourism
The above mentioned targets describe which of the following Sustainable Development Goals

(SDG)?

(A) SDG 16 B) SDG 12

(C) SDG § D) SDG 4
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A ’ (B) SDG 12
) SDG16 PG

(C) SDG 8
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16, Whatis the percentage of urhanization in Jharkhand State? ™

(A 24% i

©) 55% eI

ARG T Wyl 1 whise #4127

(A) 249 B) 33%

©) 55% D) 90%
17.  Betla National Park is reserved for

(A)  tigers (B) deers

(C)  birds and aquatic animals (D) elephants

ST T Fe ey fom smfim 20

(A) =ma ®) feo
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18.  Which sanctuary is prominent for jts many wolf species?

(A)  Topchanchi B) Lawa]ong

(C) Mahuadanr (D)  Parasnath
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19.  Modified Mixed Reference Period or MMRP

Fwi) following R i method to calculate poverty was used by which

(A) Lakdawala Committee

o (B)

C. Ran 5 .
Suresh Tendulkar Committee (D) NITI Agarajan b
a4 I I ayog
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20. ‘Rapid Financing Instrument’ and ‘Rapid Credit Facility’ are related to the provisions of
lending by which one of the following?

(A)  Asian Development Bank
(B) International Monetary Fund

(C)  United Nations Environment Programme Finance Initiative
(D) World Bank

e el sghe v e wfee giar, Fraffes & 4 fees g o 33 %
JEEHT § Feita 22
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SECTION -II
g - 11

1. What do you understand by problem of ‘Double Counting’ in National Income Accounting?
Discuss measures to remove the problem of double counting while using production method
in estimating National Income?

TEE AT @i & d@qH H ‘Double Counting’ & 39 T wWerd ¥2 vame fafy
4 g s A9 # ‘Double Counting’ 1 HHENT H ¥ & & SuEl & =i
|

OR / 3gat

Discuss the important issues confronting Indian Agriculture. Explain the measures taken by the
Government of India to address the issues during last decade.

A FHfa g # wmer R @ e wwensi il =wwl W qwr 99 awensi @
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SECTION -V
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4. Discuss the role of Renewable Energy in sustainable development of Jharkhand and critically
examine the incentives provided to Renewable Energy sector in the State of Jharkhand.

sREve % wad e § e Sst & fie A sl T AREE WHR TN
gem o F 8w @ fu T Wt B ArEeAEs e (Fam) w

OR / 34a1

Discuss the post Covid-19 pandemic Industrial Development Strategy in the State of Jharkhand
in the light of Jharkhand Industrial Investment Promotion Policy, 2021.

aaEve S SR PRy W Af, 2021 % Y § Fifde-19 AEWR 6
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